SITEID : IBM
Experiment ID : IBM 2014 retroED_EVAL14 ENG_s-camera p-SM_1 (Primary retroED)
Events Processed : CellToEar, Embrace, ObjectPut, PeopleMeet, PeopleSplitUp, PersonRuns, Pointing

RFA {in Events/Hour}

Scoring Parameters| Duration|Cost False Alarm|Cost Miss[Rate of Target| BETA
Value(39151.800 1 10! 20/0.005
Inputs Actual Decision DCR Analysis Minimum DCR Analysis Ratio=0.005
Dec. Dec. Dec.
. ' . . . .
Title #Targ|[#NTarg|#Sys|#CorDet|#Cor!Det|#FA #Miss| RFA ||PMiss| DCR Tresh RFA |[PMiss|| DCR Thresh RFA ||PMiss| DCR Thresh
CellToEar| 54 23| 24 1 o 23 53|| 2.11485|| 0.981(0.9921{/0.0000|| 1.93095|| 0.981(/0.9911] 1.000|{0.0000/(/0.0000/|0.0000|| 0.0000
Embrace 138| 94| 126 32 0| 94| 106/ 8.64328|| 0.768|{0.8113]|0.0000| 8.64328|| 0.768||0.8113|| 0.000/|0.0000/0.0000|(0.0000/| 0.0000
ObjectPut 290[ 35| 48 13 0| 35|| 277|| 3.21824| 0.955(/0.9713||0.0000|| 2.39069|| 0.955((0.9671|| 0.880|(0.0000((0.0000/|0.0000|| 0.0000
PeopleMeet 256“ 330/ 405 75 0|[ 330|| 181|(30.34343|| 0.707(0.8587||0.0000|(25.56204/| 0.730((0.8583|| 0.005|/0.0000((0.0000/|0.0000|| 0.0000
PeopleSplitUp” 152 232|| 265 33 0|[ 232|| 119/|21.33235|| 0.783/0.8896||0.0000((21.33235|| 0.783/|0.8896|| 0.000/|0.0000/0.0000|(0.0000/| 0.0000
PersonRuns” 51 57| 67 10 o 57 41|| 5.24114/| 0.804{(0.8301/|0.0000|| 5.24114/| 0.804((0.8301|| 0.000|/0.0000((0.0000/|0.0000|| 0.0000
Pointing” 795 47| 62 15 0| 47|| 780| 4.32164| 0.981(]1.0027||0.0000|| 2.48264/ 0.985((0.9973| 0.880|(0.0000((0.0000/|0.0000|| 0.0000
DET for SED14_TBH_retroED_EVAL14_2 : IBH_2814_retroED_EVAL14_ENG_s-camera_p=5H_1
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